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[FRfBHH=E]
1. [ZDHOBEHEE (FatED)] A
225 2R AT 4 (5] A
BEKD [EHR(FE) [AIEk (%) |[BHEKD  [EHR(FE)
& i 49,220 3,888 920 53,519 4227
FER2251H~2H il 4F 5]
HEKD [HE(FR) [MEL(%) | HEKD  [HH(FH)
=1 79,105 6,248 85.6 92,395 7,298

2. [Vxa—L(FEHED)] B

TRR224E28 BIEER A

= (KL) ERE(FER) AT (%) [$E (KL) ERE(FEH)
&Et 74,135 5856 113.3 65,457 5,170

ERR22%1H~2R HI4E B 88

#= (KL) BRE(FER)  |BTEELE (%) [#E (KL) BRI (FER)
=1 122,181 9,651 118.7 102,909 8,129

3. [Hor2ILE&S] C=A+B

TRR224E2 8 AR A

#= (KL) BRIE(FER)  |BTEELE (%) [E (KL) BRI (FER)
=11 123,355 9,744 103.7 118,977 9,398

ERR22%E1H~2H BI4E B HA

= (KL) ERE(FER)  |RIFFELE (%) [3E (KL) ERE (FER)
Bt 201,286 15,899 103.1 195,305 15,427




